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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

at Headoel Eﬁ'UT T ITAET ag Flﬁ' %‘ Question ID : 9864493044

Status : Answered

This is NOT a use of a concave mirror; :
Chosen Option : 3

e o T A

As rear view mirrors
s T UUT F & H
As shaving mirrors

 , FEH A

In headlights

Q2 fw T HJHHA H o §1ﬁ' TET F et @ ﬂ?ﬂ Question ID : 9864494323

Status : Answered
Chosen Option :1

15, 20, 18, 23, 2, 26, 24

Select the number missing from the given series.

15, 20, 18, 23, 2, 26, 24

Ans ‘, 1. 21
X 228
X324
< 430

Q.3

Question ID : 9864493938
Status : Answered
Chosen Option :2




Ans

e
?

Select the option that correctly fits in the blank space in the given figure.

AN

Q.4

Ans

15, 18 3T 24 &7 o F. &1 N7
The LCM of 15, 18 and 24 is:

W 1360

K23

< 3540

X 46

Question ID : 9864492782
Status : Answered
Chosen Option :1

Q.5 afy Tl x* + kx + k = 0 & & WA 3T IEatEs qo & o k

Ans

A Sl & fREST HTET HEm?
Ifx* + kx + k = 0 has two distinct real solutions, then the value of k will satisfy:

ka < 0 haol
k<0 only

XZ_O < k<4
0<k<4

Xak > 4 Thaol
k>4 only

> k<Qork>4

k=0ork=4

Question ID : 9864492776
Status : Answered
Chosen Option :1

Q6 ‘n’ F e eTeH S quite & T, n® —8n? +20n — 13 T HA=T &7

Ans

For how many positive integers ‘n°, n® — 8n? + 20n — 13 is a prime?

X7

Question ID : 9864492624
Status : Answered
Chosen Option : 1




X 25
X3 2
V3
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Q7

Ans

Tratof@a afofafaat & ¥ g J Fe ag & mr g7
In which of the following activities is work NOT done?

xmaﬁaﬂaﬂﬁaamﬁ

Ashwin 1s elimbing a bus
| 3Rae ots T &
Ashwin 1s running
31f9aeT celeweT W @I §

W 3
Ashwin 1s standing on the platform

, ARG I WT ¢
.Ashwiniswalkj.ng

x

x

Question ID : 9864493181
Status : Answered
Chosen Option : 2

Q.8

TF I H 3:2 F g H afee B s @) s 5w gem d 8
ST ST & & W gee H 7: 5 @ S g1 et gems # ¥ a9y Fie
o geire

A number was divided in the ratio 3 : 2. When § was added to each of the numbers the
ratio changed to 7 : 5. The greater of the two numbers was:

Question ID : 9864492885
Status : Answered
Chosen Option : 3

Ans x1_ 69
V2 48
<342
X 427
Q.9 frelr sragedra oF F1 A, SrEd U $r e swh S @ ami

Ans

TF S F A & T g OF H e o e fr e & e
e 2

The volume of a right circular cone, whose radius of the base is half of its altitude, and the
volume of a hemisphere are equal. The ratio of the radius of the cone to the radius of the
hemisphere is:

X1-\{§:1
Xz-iﬁ:l
vial:1
K421

Question ID : 9864492955
Status : Answered
Chosen Option : 2

10 Prfafla & @+l dr 9&0 v s gEa g

Which of the following is a prime number?

Question ID : 9864492563
Status : Answered
Chosen Option : 3

Ans x1-389
X 2.899
X 31147
' 4 997
Q.11 FFaT 2017 &, g 3@ ¥ & e & 300 Tere o a0 foem =1 wa@r

Ans

A= @S (H=F &1 7E & deEl #) 997 f seer afte == F e
In how many test matches did Ravichandran Ashwin achieve the feat of becoming the

fastest player in the world (in terms of number of matches) to get 300 wickets in test
cricket in November 20177

X< 1.56
X 2.50

Question ID : 9864492230
Status : Answered
Chosen Option :2




X 352
4 54
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Q.12 Tl gt A % el g 3 #or At el s dssamm

Ans

Which of the following elements has a total of 3 shells with 8 electrons in the last orbit?

X 1 Al
V2 Ar
X3P
X4s

Question ID : 9864493574
Status : Answered
Chosen Option :2

U forrm e 7 Redwr FY 3N wER s9gEs REew T

Ans

AT TS T AT A T &

Consider the following statement and select the best option.

Gold is more expensive than silver.

FHIT

| Always

Fafr 78T
Never
HFHT

Often
FHHT-HHAT
Sometimes

1

<2

X 3.

X4

Question ID : 9864493793
Status : Answered
Chosen Option : 1

Q.14 v FeT FH 12 o=ZH & oy gieT F 50T @R 16 T S| weT # g

Ans

30 ol & FeT 3T 18.1 ATl TSR @ HET FRR FT 917

The mean score in a test of the 12 boys in a class was 16 while the overall mean of the 30
students in the class was 18.1. What was the mean score of the girls?

*1.20.5
x219.8
v:195
X420

Question ID : 9864492959
Status : Answered
Chosen Option :2

Q.15 gar d@en Hex T afedsh & g1 7 seEe R &7 112 $e # oo

Ans

QfEAT (FF) FT 2017 H 819 F TU=AT 7 3HAE07 F7ar 9 R 7 o7
afd wnfem §2

The Prime Minister of India unveiled a 112-feet bust of ‘Lord Shiva in an Adiyogi pose’
at the Isha Yoga centre in 2017. In which city is this statue located?

Coimbatore

Question ID : 9864492411
Status : Answered
Chosen Option : 4

Q.16 ST 35T 17 (T -17) g &9 2017 @ g1 & smafaa fear amar ar?

Ans

‘Which country hosted the FIFA Under 17 (U-17) World Cup in 20172

Question ID : 9864492309
Status : Answered




X4
Spain
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Q17

kabaddi

P Q R

4 T u

Foothall | ¥

Cricket

v 7T 47 3@ & AFGER, 39 O & T FE F = e 3l
TSl At Yo § AT Geater 74 Ter #

Kabaddi

P Q R

5 T u

Football | ¥

Cricket

According to the given Venn diagram, the total number of students who play cricket as
well as Kabaddi but not football is .

Question ID : 9864493970
Status : Answered
Chosen Option : 2

Ans X1U
voT
X 3R
X4V
Q.18 Frmfaf@e gwer & vof Fea % TUW W uityd TEw = 997 &

Ans

3,8,13,18,?

In the following series, one number is missing as shown by the question mark (7). Select
the missing number from the given options.

3,8, 13,18, 7

X122
v 223
X324
X 421

Question ID : 9864494248
Status : Answered
Chosen Option :2

Q.19

o @ =iF @ 1 & 20 T 3 F 7T 3 H@T 82
Which of the following is the prime number series from 1 to 20?

Question ID : 9864493955
Status : Answered

Ans x1_ 3, 5, 7, 11, 13- 1?, 19 Chosen Option : 4
V22 3,5 7,11, 13, 17, 19
~<32 5 7 9 11, 13, 17, 19
©<41,2 3,5 7,11, 13, 17, 19

Q.20

Question ID : 9864492631




e s o st e WML GIAVIIQRS Al €T IN

s ot vk SR TepTer et THehTel ST &1 91T &= I T I
Eicl

From a solid cube of side 7em, a conical cavity of height 7em and radius 3em is hollowed
out. Find the volume of remaining solid?

Ans ;00T AT
300 cm®

272 T HaHET

272 cm?®

270 g GarHeT

270 cm?®

277 O HEHRET

277 cm®

<2

X 3.

W 4

Status : Answered

Chosen Option : 4

2 gearat 3,1, 1, 5,2 3t 7 TfTeT T
The median of the numbers 3, 1, 1, 5, 2 and 7 is:

Question ID
Status

19864492678
:Answered

Chosen Option : 3
Ans  of1.2.5
X23
X335
X 42
Q.22 Frggioe & e seass d O fawr aiftha da & &7 7 ?
) : a . ) e arrn ol 2 Question ID : 9864493411
‘Which one of the following oxides of Nitrogen 15 also known as Laughing Gas? Status - Answered
Ans x 1. NO; Chosen Option : 1
X 2.No
X 3. N, Og
( 4. Nz 0
Q.23 10 et # vw wAg OEr SR # 12 @ # w@r gl 6 s, TeE w T —
Yol TES WAE W § T WA ¥, g9 AN & REd & e R uestion 1L
Status : Not Answered

#F wAmEr?
10 people can build a wall in 12 days. Six people, each only half as efficient as those in
the first group, will be able to complete % of such a wall in:

Ans
x 1 25
25 days

24
24 days

20 fe=
20 days

18 fe=r
18 days

W 2

K3

< 4

Chosen Option :

Q.24 i G cgaear # s W0 aeT & o S ygel e TEAT & dfesd SR
arg # U e wdt &7
Q@A3RI4+6T48402°$WS

How many such letters are there in the below arrangement. each of which is immediately

preceded by a number and NOT immediately followed by a letter?

Q@A3RI4*6T4&4027$WS
Ans

Question ID : 9864493697
Status : Answered

Chosen Option : 2
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Q.25 T35y el GUUT ShT “WIades Tdg o ATH i &1 el el &
The diameter of the reflecting surface of a spherical mirror is called a/an:

Ans

U IE )

focus

<

, o< (aperture)
| aperture

v

Question ID : 9864493323
Status : Answered
Chosen Option : 1

4%° 4096 w1 FHT FAT §?

The square root of 4096 is:

Ans

X174
X< 268
V' 64
X 4 56

Question ID : 9864492643
Status : Answered
Chosen Option : 3

Q.27 yrele 3 3t Jeffentor 3 gt dea ferfafa & & s Stor R@ar g2

The tenth element in the Newland’s periodic classification resembles the:

Ans

v AT
Third
TUH

First

X3 Star
Ninth

| =itar
Fourth

K2

X4

Question ID : 9864493113
Status : Answered
Chosen Option : 3

Q.28

Question ID : 9864494004
Status : Answered
Chosen Option : 4




Ans

s s a7 T # mmé’é@%\’wﬁggﬁjgl;asalert.in

@

Select the image that will correctly fit in the blank space of the following figure.

v &

NN

Q.29 e forar 3T 3we I 1 TN A F1 AT 60 T §| TF T g, Rar Fr amg e
T T e AT o | 6 A A1 I 7 3 Fak g

The sum of the present ages of a father and his son is 60 years. Six years ago, father's age
was five times the age of the son. After 6 years, son's age will be:

Ans

F !

X2

2199
21 years

19 I%
19 years

IISElﬁ'

15 years

.2oa1§r

20 years

Question ID : 9864492593
Status : Answered
Chosen Option : 3

Q.30

Question ID : 9864493726
Status : Answered
Chosen Option : 4




2001-2006 #r 3@ & Zhue wiy av e MQQQ\QJF(}QSNGH | n

= F G

Jaa gy | fAfecr |

2001 ¥ 1,500 |T 200 |T 500 | 100
2002 (¥ 2,600 |3 300 |T 600 |¥ 200
2003 (¥ 3,200 | 150 | 700 | 150
2004 (¥ 4,100 |T 250 |T 650 (T 125
2005 |¥ 5,000 [T 200 |T 800 |¥ 150
2006 |% 5,200 |3100 (% 750 (% 175

Hrel

The average expenditure per year during the period 2001-2006 is (round off to the
nearest integer).

Items of Expenditure
Salary | Food | Medicine | Tax
2001 [¥ 1,500 | 200 | 500 T 100
2002 [¥2,600 %300 | 600 T 200
2003 [¥3,200 T 150 | T 700 T 150
2004 [¥4,100 %250 | T 650 T125
2005 | ¥ 5,000 | T200| T 800 T 150
2006 [¥5200|%100] 750 T175

Ans 1. 2,032
<23 2034
# 3% 2035
v %1017

Year

Q.31 el & o &% H 7825 AT Fv o 8% afie WumoT === & aer
ur| ofy @nef d% & 5 @ o Y@ @ & & 9% 5§ W Rhaer sae afee
FLET:

Saathi deposited T 825 in a bank that promised 8% simple interest per annum. If Saathi
kept the money with the bank for 5 years, she will earn an interest of :

Ans o 1T 330
# 2T 290
# 3T 480
# 4T 280

Question ID : 9864492968
Status : Not Answered
Chosen Option : --

Q.32 =fg AB guur & o v arv uX fammest & & weaT ©fd (Problem figure) &t
TE gUuT oY i d@r gen?

|
s

From the given four figures choose the correct mirror image for the problem figure when
the mirror is on AB line.

|

B

Problem Figure

Answer Figures

A

Problem Figure

Answer Figures

GISISES

Ans XA1_ D
v2C
X3 A

Question ID : 9864493713
Status : Answered
Chosen Option : 3




X +B
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Q-33ﬁmmm%mm§#mm%#mm§mm%?

What is the fraction which, when taken away from %, gives g?

Ans o 1
vt
x s
X 4.

T = m e

Question ID : 9864492881
Status : Answered
Chosen Option :2

QU AR TR R TR TRt o a7 @ @) 7F
geemer ¥ (F)1

W TN AT H FEH HTE el A e 82

& 1 sﬂaﬂaﬁagﬂﬂmﬁaﬁgmﬁaw%mﬁﬂﬁrgnsﬂﬁﬂ
FferRTer w2 #F I & §

TF 2 HERE, A, TNEN, =S 9, =0T dic i a=dt o @t e
Read the given question and decide which of the following arguments is (are) strong.

Question: Are the best things in life free?

Argument 1: Life gives us so many opportunities for free and yet most of us waste it.

Argument 2: Smile, friends, family, good talk, good sleep and happy memories are all
free.

Ans «113ﬂ?2aﬁmnﬁrﬁl

Both arguments 1 and 2 are strong.
| e e 2 SR g

Only argument 2 is strong.
| e e 1 SR g

Only argument 1 is strong.
1 3R 2 2t gemereh 7@ &

Neither argument 1 nor 2 is strong.

x

x

x

Question ID : 9864494194
Status : Answered
Chosen Option :1

% iy T e R # Reer fog ¥ 2

How many triangles are present in the below figure?

ans X119
v 217

Question ID : 9864493817
Status : Answered
Chosen Option : 4




<318
X< 416
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Q.36 HTcARUTHS G HA FE T B g TEEH T T HIEH 6 TS F
Erecaeo i vl
‘Who is the author of the autobiographical work ‘On My Terms: From the Grassroots to
the Corridors of Power’?

Ans . ool 9HIe, ATee
1, ™

Lalu Prasad Yadav

AaHET fag

Manmohan Singh

S 9T
3
Sharad Pawar

HHAT o
Amit Shah

X2

X4

Question ID : 9864492392
Status : Answered
Chosen Option : 1

s AT HHET & AEF &

are the carriers of heredity material.
Ans ITHF
X2

Gametes
| FH HITEERT

Germ cells

HTAITITRT
X3 9
Genetics
AT

Genes

v 2

Question ID : 9864493538
Status : Answered
Chosen Option : 4

Q.38 fordlt Rege =re & &l off Fiw do=a ¥ 21 o & Ay 1 TFs F

warfed oRaT SITar & & SHE SouesT @e ThdeT glem?
If two Coulomb of charge flows through any cross-section of a conductor in one second,
what will be the current flowing through it?

Ans > TR
r 0

1

EAmpere

X2.1
1 Ampere

- TERR

X s
1
- AAmpere

«4_201%1

2 Amperes

Question ID : 9864493406
Status : Answered
Chosen Option : 2

Q'”H‘Q—orﬁ‘gﬁarrg‘lr-n%t

A school always has a:
Ans QeTATEATI S
1,
Headmaster

Question ID : 9864493893
Status : Answered
Chosen Option : 3




ek

o,
Teacher

P
< 3
Library

Helel

4.
X Building
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Q.40 == 22 + ax + b #F TR x + 3 ¥ Fenforg far s & 9w 22 W gar
iR x2 + bx + a 9 x- 3 ¥ Fenfom S s & 7 9w 24 W
BT ¥a + b T AT TR

Ifx* + ax + b, when divided by x — 3, leaves a remainder of 22 and x* + bx + a,
when divided by x — 3, leaves a remainder of 24, thena + b="?

Ans X123
X2 _7
Va7
X 423

Question ID
Status
Chosen Option

19864492676
:Not Answered

Q.41 SATU] WET AT U Aed T AT HFETSS 3o SO |

An element with an atomic number of will form a basic oxide.

Ans x1_1?
X26
X337
v 420

Question ID
Status

Chosen Option :

19864493448
:Not Answered

Q42 forw s JEmed & 9% 2017 # H3Tas FHHAEE [ERR ST 82
‘Which Indian Chief Minister won the 2017 Outlook Speakout Award?

Ans
r
) Aare FAR

Nitish Kumar
A TEATIR
Naveen Patnaik
HHAT ettt
Mamata Banerjee
x4 3 BEAAH
Devendra Fadnavis

v 2

X 3.

Question ID
Status
Chosen Option

19864492307
: Answered
4

Q.43 3fy oied 182 &, T FoH §, FaHd o8 ¢ 3T o o ¥ ar v o= afteT
#F e e
A box is termed as eraser, an eraser is termed as pen, a pen is termed as stick, and a stick
is termed as plant. Then in the exam a student will write with

Ans oier

Question ID
Status
Chosen Option

19864493795
: Answered
1

Q.44

Question ID :

9864493197




Tch '-'-lr;.l_("l' a; Qddded T {7 aﬁﬂV\ﬂ!TV\QA,gOVtJOb alertln Status : Answered

The reproductive parts of a flower are:

Ans «Lgﬂﬂﬂaﬂtm

Stamens and carpels

et AT FRIeT
X2

Calyx and corolla
X 3 el 3R Frded
.Calyxandcarpels
| R R GERR

Corolla and stamens

x

Chosen Option : 2

Q.45 vesA faga & ¥ W A aATell HE Seal HHT (Answer figure) T Tl |

Problems Figures
A B C D
Answer Figures
[
HEHERS
L] [
1 2 3 4

Choose the correct figure which will replace the question mark.

Problems Figures
A B C D
Answer Figures
[
X [[] LN
L[] [

Ans x14
X22
v:3
X1

Question ID : 9864493705
Status : Answered
Chosen Option : 3

Q.46 Fifererr & Riar &7 3 Aot & ST d & TAY 38 T9 off, STTH SHHT AT 61 3 56
A 36 TN off, T 35F TR T T 1S F oA g3 01| T A-Ra BT F
T TR

Monika's father was 38 years of age when she was born while her mother was 36 years old

when her brother four years younger to her was born. What is the difference between the
ages of her parents?

Ans 398

Question ID : 9864492633
Status : Answered
Chosen Option : 4




, 299
2 years

<
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Q47 37 BT & wO HY A e TEg @ weafoT Ad 2

YIN 7

A B C D
Select the figure that does NOT belong in the following group.

LN 7 | =
A B C D
Ans X1D
vocC
<3 A
X 4B

Question ID : 9864494384
Status : Answered
Chosen Option : 2

Q.48 A o T wreatas I, fome geaee AR Bewr gt dt & 3y & e
¢ 19 T 7 TAE W IHATEYUT & HROT 0T ¢ E A 3 TE W
TECATHAOT & FROT @07 el gham :

Consider a hypothetical planet whose mass and radius are both half that of Earth. If g is
the acceleration due to gravity on the surface of Earth, the acceleration due to gravity on
the planet will be:

As f 1 2g
X2 g/a
K3 g
K4 g/2

Question ID : 9864493280
Status : Answered
Chosen Option : 1

Q.49 qﬁ@raﬁtg@mﬁg&r, X, 150° gléromae 3ikc 105° amAmae oFam &1 X 3w
forw foam & % 7@ FT gE @ B2

Facing East, X turns 150° clockwise and 105° anti-clockwise. Which direction is X facing
now?

e, FeattEm #
North-West
S
North-East
X3 giauT-aiRes &
South-West
 afEorgs

South-East

x

v

Question ID : 9864493944
Status : Answered
Chosen Option : 4

Q.50

Question ID : 9864493927
Status : Answered
Chosen Option : 2




e e et 51 s she o P WAV G QV O salert.in

=TT 79 ¥ F ¥ ey Beer s o §

FY:
it 9z = &1 Je A= Agear &

s

1: Tefr FEaar fET FH=TT 2

2: @3ft 5gs AgAdr &l

Consider the given statements as true and decide which of the given conclusions can

definitely be drawn from the given statements.

Statements:
All carpenters are workers. All workers are hardworking.

Conclusions:

1: All the hardworking people are workers.
2: All the carpenters are hardworking.

Ans - Fael frshy 2 FFHIT HLT g
1.

Only conclusion 2 follows.

T 1 3R 2 Bt e =
Both conclusions 1 and 2 follow.

JA A1 R & 2 HEROT e

v

x

Neither conclusion 1 nor 2 follows.

4aa—=|?~rﬁm:&134§1qmm%l

Only conclusion 1 follows.

x

s faega vaTg I RET AF s ¥ Question ID : 9864493205

Status : Answered
The SI unit of electric current is: Chosen Option : 3

Ans x1m

volt

X2
milliampere

TR

ampere

ATSHITEIIT

microampere

v &)

X4

Q.52 7o F T IEg 13% AT W AW & IR FEe 50 T 49 HfUw # &=
BIaT A 3 22% T A FoT ATl 30% W o 9 & o vy @ R
TET FAT ET ARe?

Yayati sold an item at a loss of 13%. If he had sold it for ¥ 49 more, he would have made

Question ID : 9864493029
Status : Answered

Chosen Option : 3

a profit of 22%. What should be the selling price of the item to gain a profit of 30%?

Ans  of 1.7 182
/< 2.¥192.30
< 33190
< 4318775

Q.53 rATaiag # & RhHeT 99T S a0 & HY-0TY E&6E F Teid g+ &
fore faar =ar 87
‘Which of the following is used in making perfumes as well as flavouring agents?

Question ID : 9864493532
Status : Answered



we | Rt

Fthanoic acid
X 3. FeTel
Ethanol
TR

o 4
Esters

WWW. govtjobslalert. 1N 056n ption 3

Q.54 wer BT &7 =y feer & o7 @ § Tow far & 4.8 Feer sl g sk 6
Torelieiier oy g & o1fy O &r =afdg o @ &1 3 39 s 4.5 s 3k
9 s H ST &I 9 FT T g1 B 37 #r oe e e 27

A mini-van crosses two people walking at the speed of 4.8 kmv/h and 6 km/h in the same
direction as that in which the mini-van is heading in 4.5 s and 9 s, respectively. What is
the length of the mini-van?

Ans x14 IﬁET

4m

3.5 HreT
35m

2 Arex
Im

3 HArex

im

X2

X 3.

v 2

Question ID : 9864492870
Status : Not Answered
Chosen Option : --

Q% few =1 wag ¥ faww ampfa gfaw

A B C D
Select the figure which does NOT belong to the group.

DY H

B C D

Ans X1 B
v A
X 3D
X4C

Question ID : 9864493733
Status : Answered
Chosen Option :1

Q.56 @ AR e BT ofiNe (TAEWAS) F TOA e BT
Who is the current chairman of the All India Council for Technical Education (AICTE)?

Ans FATHAT FITeol
1.

<
Najma Heptulla
< 2 I 2T
Srikant Datar

| st T

Anil Sahasrabudhe

v

Question ID : 9864492274
Status : Answered
Chosen Option : 4




www.govtjobsalert.in

x o T i
Pritam Singh
Q.87 P Uy ATET H O HIEEY 9T AT gl Question ID : 9864493635
The has abundant white fibres. - StaFUS fAnswered
E— osen Option : 4
Ans 1;"-?_;
F !
ligament
X2 [
cartilage
Vs RNE]
tendon
X 4 ESgT
bone

Q.58 57 R F w9 FX SN A R ¢ wHg ¥ WO 74 3

717|=|

A B C D

Select the figure that does NOT belong in the following group.

717|=|I
B C D

A

Ans x1_B
< 2D
X3 A
vicC

Question ID : 9864494034
Status : Answered
Chosen Option : 1

Q.59 meit # Iow A o9 & = gae, e ik s o sw aE afe

forar ST & :

Involuntary actions in human beings such as blood pressure, salivation and vomiting are

controlled by the:

Ans x1tﬂﬂ:r

Pons

K2

<
Spinal cord

- Hzger
v T2
Medulla

Question ID : 9864493236
Status : Answered
Chosen Option : 2

ERIE P )

| Hypothalamus
| T FE

Q.60 &1z # Sfrewdr (avg 3K ¥ W) 2017 F A T TS ¥ w9 F=_w 2

India implemented the GST (Goods and Service Tax) from which month of 2017?

Ans X1;“é.

March

Question ID : 9864492198
Status : Answered
Chosen Option : 4




et
September

ECCr
January

SEIN

July

X2

K3

o 4
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Q.61

Sales of Bikes in India as per the Colourin
2009

30%

25%

5%
20%
0%
15%  12%
10% 10%
10% I 8% o I I
5% 3%
" I I T | I
Blue Green Golden Brown Black sihver White Red Yellow
2009 # STRE # T & HFET agei S &b
Blue- #rem
Green- g0
Golden- g
Brown- T
Black- srem
Silver- T&d
White- Tihe
Red- =Tt
Yellow- e
afE a9 2009 F S T AFEFA H For wEAT 50,000 §, A Ao v A
arsFE S AR & goen # wihe agw H e S e G w9 o

Sales of Bikes in India as per the Colourin
2009

30%

25%
5%
20%

20%
15% 1%

10% 10%
10% 8% ™

I 2 1 I
5%
. I a 11

Blue Green Golden Brown Black siber White Red Yellow

If the total number of bikes sold in 2009 was 50000, then by what number was the sales of
white bikes less than that of yellow and red bikes put together?

Ans 5 1. 5,000
v 22500
< 3.3,000
< 4.10,000

Question ID : 9864494152
Status : Answered
Chosen Option : 3

Q.62 fr=fof@a aadedl #t ¢ 3R & 13 A= § 7@ 77 L FT § ey
Tl F THEIT FT Y AT (A §) F &

Tae;
1. T A & ¢
2. Tl I ST

s

1. $o T A7 £

2. T FRaEl e g
Consider the given statements true and decide which of the given conclusions logically
follow(s) from the statements.

Statements:

1. Some tables are books.
2. All books are chairs.

Conclusions:

1. Some books are tables.
2. Some chairs are books.

Question ID : 9864494217
Status : Answered
Chosen Option : 4
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Both conclusions 1 and 2 follow.
1 3R 2 et HFET A AR
Neither conclusion 1 nor 2 follows.
el fASHY 2 3ET0T FIA B
Only conclusion 2 follows.

| el SR 1 STFEROT HIT E

Only conclusion 1 follows.

x

x

x

Q.63maﬁmwmmm¥‘mﬁ?mm#mmym
g PfEART T & £, & ST ey = 82

‘Who designed the world’s lightest satellite “Kalamsat’, which NASA launched and seta
new world record? Chosen Option : 3

Question ID : 9864494485
Status : Answered

e, R
Rifath Sharook
2, AT EIE_?IIT
Shawna Pandya
v Rt o
Riyaz Sharook

, AT ST
Madhav Dhekane

X

x

Q.64 T # & a1 R ¥ 3H forwd FT TUT B A ARHIT T F HTEOT

= Question ID : 9864493875

Status : Answered
I Chosen Option :1

e 3 A o gt wEd o # e §, S sgeaw & For
e &1

o
1. STEE & AEA & (et #F S8 gaer @)
2. qFEe ¥ 79 & fOU WER Za HOE WEer a3 A= i)

Decide which of the conclusions logically follow(s) from the information given in the
statement.

Statements:
During the rainy season many train accidents occur in hilly regions due to landslides.

Conclusions:

1. Trains should not run during the rainy season.
2. More precautions should be taken by the government to avoid landslides.

Ans v Faer frshy 2 3TTEIOT HAT §
1.

Only conclusion 2 follows
el sy 1 egERoT T
| Only conclusion 1 follows
T 1 3k 2 gt srgere e #
Both 1 and 2 follow

x

x



x

4;ra’r1;ré’r234§ﬂ¥vwwﬂ\=/1vég

Neither 1 nor 2 follows
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2550 — [510 — {270 — (90 — 80 + 70)}]

Solve the following.

2550 — [510 — {270 — (90 —80 + 70)}]

Question ID : 9864492519
Status : Answered
Chosen Option : 3

Ans X 1.2210
X 22240
X 3.2220
W 42230
Q.66 geemfordt gamr I 1662 F 390z F AT AW I FH TN F TN F T &

Ans

T AE FT W T3 F & H hH AT 9@ # 39ER TY faar T ar

‘Which Indian city was gifted by the Portuguese as dowry to Charles II, the King of
England, when he got married to the sister of the King of Portugal in 1662?

T
Goa
qeg
Mumbai
aHA

Daman

FrEA
Cochin

Ko

W2

X3

r 8

Question ID : 9864492117
Status : Answered
Chosen Option : 1

Q.67 T a1v 3@ W & WA I9A & HUR W HGOUd 98 & 994 #

Ans

BFK : IMR :: DGP :

Select the missing term based on the given related pair of letter clusters.

BFK:IMR:DGP:
v 1 KNW
& 2. KNZ
& 3 WNK
< 4 KWN

Question ID : 9864494065
Status : Answered
Chosen Option : 2

Q.68 T=aTaf@a # & wiadr g I we@ @Y 9= H el F T TF g2
‘Which of the following is one of the saltiest lakes in the world?

Ans

v Hd HIFY
Dead Sea

x

Caspian Sea
. effel HIEFY
'Red Sea
X4 el "L
Aral Sea

Question ID : 9864492136
Status : Answered
Chosen Option :2

z_mﬂm
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Q.69 foreh wEpfae BT # WAWw Fe1$ & 85T | 370 F= g § Fies fewer
TFET B F FN0T A e # ¥ Fw oA

A compressed spring possesses more energy than a spring of normal length because the
compressed spring has:

Ans «1_ﬁ21ﬁ3raﬁ|‘r

potential energy
| e Fdr
kinetic energy
, Tt St
chemical energy

FSHT FAT
X4
heat energy

x

x

Question ID : 9864493341
Status : Answered
Chosen Option :1

Q.70 Fifdr F s Fetar 7160 7 @i v =@ 7180 & 37 fam 9fdea & =
% Tl .
Kaushik bought a toy for ¥ 160 and sold it for T 180. The rate of profit was

Ans  (1.17.5
v 2125
< 3.15.25
<416

%

Question ID : 9864492928
Status : Not Answered
Chosen Option : --

Q.71 v e 1 AT $1X W 3 TATO] FeEaT N B | 59 AT 3 e H Hieler Fr 5w
Tt gt

An element has an atomic weight of W and an atomic number of N. The number of
protons in the nucleus of its atom is:

Ans X1 W-—N
X2w
Vi N
X4 WHN

Question ID : 9864493087
Status : Answered
Chosen Option : 2

72 gy & FHF (NaCl) Brad &= @ar 272
Common salt (NaCl) is made up of:
T AET 3ed 3R TF AT &R

Ans

v &)
a strong acid and a strong base

xzwmmaﬂ?wwm

a weak acid and a strong base

THh FHAAN IHFT AT T FAAT &1

a weak acid and a weak base
T Agd HFl A TF FAAN &

< 3.

< 4

a strong acid and a weak base

Question ID : 9864493530
Status : Answered
Chosen Option : 1

7 AT eIT &1 pH T 81T &

The human body works within the pH range of:

Ans
v 70 T7.8
7.0t0 7.8

Question ID : 9864493289
Status : Answered
Chosen Option : 1




x 2 70 8.6
7.0t0 8.6
x 5 60 7.0
6.0 to 7.0
x 4. 60 6.8
6.0 to 6.8
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Q.74 & =17 gF W fa=w F1 3y 97 = & & o2 A=t § @ Fi9 O B

Ans

@

T
i PRt &7 gEE 9.00 T O Hieret Tgae # der Rar S g

HGAIT:

1. 7o et 7AT W 7 A §
2. fer e 7 v wh et & arew w6

Consider the given argument and decide which of the given assumptions is (are) implicit.

Argument:
All the faculty members are instructed to reach the college by 9.00 A.M.

Assumptions:

1. Some faculty members do not come on time.
2. Faculty members will follow all the instructions in the notice.

1 Faa AT 2 Afga 71
Only assumption 2 implicit.
13 2 2t e et &
Neither 1 nor 2 is implicit.
1 3R 2 2=t fafea &
Both 1 and 2 are implicit.

Fad AT 1 &Afga g
Only assumption 1 implicit.

v

X4

Question ID : 9864493995
Status : Answered
Chosen Option : 3

Q.75 ws g, Fav $r 3T HEr S § 77 80 e F FEE FF 39 T § o

Ans

H A TR & s ah ¥ | ol & 739 F A oud e =
giATT @R | (@ o g=10 e 9fy 1 WeE)

A ball, thrown vertically upward, rises to a height of 80 m and returns to its original
position. The magnitude of its displacement after 7 s of motion will be . (take g=10

m/s?)

x 145 e

45 m

125 Hrex
125 m
25 AT
25m
35 HieT
3i5m

X2

X 3.

v 2

Question ID : 9864493299
Status : Answered
Chosen Option : 2




